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PART-I BOOKLET
CHILD DEVELOPMENT AND PEDAGOGY

1. Sumanth iz efficient in doing | 3,
Mathematics. But he is not efficient

in playing chess. This is an example

(1) variable individual differences
{2) interindividual differences
(3} intraindividual differences

(4) constructive individual
differences
Aeed e o DO, Tl Dol

(1) othe Doy foren
(2) ecttsiwioe: la m ad
(3) 550080 2auls P |
(4) Dorers Solll Tore

2. Thereareten studentamaprinmr:\l:
school. As per the RTE Act-2009,
the number of teacher/teachers to be
appointed is .......cvvees
&8 (Sgtos Jomod’ 10 wod Jontpes
Sots, Donandy, D50-2009 (o
DtibleoTrllyd GIMRn 505 . ovccvve. '
(1)1
(2) 2
(3) 4
(4) 3

W-801/TET-111-EM/TM , (2}

Secretion of the flJ[LU';‘-'III'lE gland
dirent.j.y affects our emotions.

(1) Adrenal gland

(2) Pituitary gland

(3) Parathyroid gland

(4) Thyroid gland

51 o) oot Brsio e B S
Erse Bpioes.

(1) elsps, el

(2). S, ol

(3) Srthy susoficl -

(4) eses ol

One.of the.following is not a

characteristic of a mentally healthy

person.

(1) Having social maturity

(2) Having emotional maturity

(3) Self-discipline

(4) Lives in his own world of
imagination and fantasy

e 3oB 6 ariser wlfom &g il

el TOB.

(1) Zrclus S050%5 sDAcotNG

(2) &0 50555 Aot

(3) Syl ERuiges

(4) B 5o BestEtod’ Sobdin Suyd’
doees
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Teacher blamed Raju for not
completing homework in front of
other students. After coming home,
Raju shouted at his sister for no
reason. This comes under ..............
(1) identification

{2) repression

(3) displacement

(4) regression

e el G Actistiot S cisstis
F0U JoP e Lol webllotr, ol
e BUSPD O erlewe 30 cooep
el 38 |

(1) by stetio

(2) SRuaas

(3) Do

(4) PSSR

An experimenter wantis to study the
impact of = ecomputer-aided
imstruction on the achievement of

students. Here the dependent

(1) achievement of students
(2) computer-aided instruetion
(3) lab environment

(4) experimenter

w¥ PAENY Doy syl el
B QAo ericiis widiie oo

(]
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One of the following is not an
attribute of the project method ...
(1) Series of activities"involved

(2) Learning by doing

{3) Unnatural

{4) Learner centered

&1 3o S B 5503 Seneleunl.
(1) Stissm Homes ol Gowra

(2) Jabwohor egisiiios

(3) esiiiretion

(4) wergad Sofpucay - -
Ilﬂishanth learnt a set of 20
meaningless words in ten attempts.
After one week, he was asked to
relearn the same set of words. This
time, he took only four attempts.

His saving BCoTe 18 ....oeeeeeecanns

Tred S0 Soiboyed 20 eileg Soretic
[T, L5 Do BUITMD e SOt
GON it Shasyminatis, ek Booe el
Scboye S Fionts. 660 sy s
[0 -2 T
(1) 50%
(2} 40%
(3) 14%
(4) 60%

P.T.0.
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9 In
extinction of conditioned response is
duetoan/the ........cceoceee

(1) absence of unconditioned

Pavlov's experiment, the |11

stimulus

(2) absence of higher order
conditioned stimulus

(3) presence of higher order
conditioned stimulus

(4) presence of unconditioned
stimulus

FECE BArned’ Duolh PiHeNs

(1) Dol sk BEFuse

(2) e e Duch ols BEisde
(3) i s Deselilh Al solle

(4) el Gl sotiio

Author of the book, "Mentality of
(1) Lewin

{2) Kohler

(3) Thormdike

{4) Pavlov

Docarbal e DBy ol Bows ............
(1) a5
(2) s%86

(3) ergE
(4) 2565

10.
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"javu s afan ...
(1) Greek word

{2) English word

'[_3} French word

(4) Latin word

(1) diees 3250
(2) escli 550
(3) pomte
(4) el

Food and sleep come under .............
(1) safety needs

(2) physiological needs -

(3) self-actualization needs

(4) love and belonging needs

(1) s eiiSoren
(2) odiee ettioes
(3) ety ESMs esorm

(4) o Bobctian Bhouolil siborw



18. Savithri doesn't understand

Sanskrit, but she can tell the

‘Slokas'
effectively. The memory of Savithri

in 'Bhagavadgita’
in learning Slokas is ........cceceivvnen
(1) rote memory

(2) logical memory

(3) sensory memory

(4) passive memory

0D By efe Ist Su oI

Grsbes™ Fsuoio o e,

Finonis wgihotiond® D00, 510

(1) edisas

(2) DO EZ58

(3) Syt

@ DeyernEinB

14, One of the following is not correct,

(1) Raven's Progressive Matrices —
Nonverbal test of intelligence

(2) Army Alpha Test — Group test
of intelligence

(3) Bhatia Test
Individual test of intelligence

{(4) Weschler intelligence scale for
children — Group test of

Battery - —

intelligence
&+ 308 & 30 TR0,
(1) S5 PP ares - oD ey 585
- (2) el ooy T - Detaln e 8y
(3) greSonin Bf empeob - Scad e 58y
(4) 36 woulBS, HE 36 0g8 -
ey gep 5y
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15. Earlier learning interferes with

present learning. Itisa
(1) regression
{2) repression
(3) proactjve inhibition
(4) retroactive inhibition

1R st (S i esoct I en,
(1) St

(2) ssse

(3) sy el

(4) 8 entitie

Thorndike's theory of trial and error
learning is also known as .............s.
(1) R—type learning

(2) Instrumentalism

(3). Cat's theory

(4) Connectionism

PHET oY g, hopsliadio qor

(1) R-Ec edizat

(2) 2oHoves e

(3) SE oo

(4) segrorse

The Intelligence Quotient of a boy
is 45. He may be classified as .........
(1) an imbecile

(2) an idiot

(3) gfted

(4) a moron
w¥ ereod Gmed 45. SBID Tt Dgom
(1) wof) dnfoto
(2) Sargats
(3) ool
(4) ool Searis
' P.T.0.



18, Generally, VAKT method is used
children with

disabilities. Here, V means ...........

for learning
{1) Vocational
(2) Verbal
(3) Valuable
(4) Visual
338 e fio e Sortesor VAKT
(1) Srsceoiou
(2) pmsonaitgs
(3) Dess
(4) Sheydotsolmy

19. The main purpose of assessment for

(1) how to teach
(2} what to teach
(3) when to teach
{4) why to teach

egpse T D5 Sobalp Sk, B
(1) e &0ood

(2) o ted

(3) gty Perd

(4) JokstE'nod

20, The type of leadership in which
the decisions are taken by a leader
AMOME I8 . ooioooiarsnnnian
(1) autocratic
{(2) democratic

(3) laissez faire

(4) permissive

W-S801/TET-111-EM/TM (6]
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B4 DERS Trbied’ e LHT
SEcires SRt e,

(1) Rtk oroiait

(2) [Senieglo, PNt

(3) ek b st

(4) enteded e

One of the following is not a behavior
problem.

(1) antisocial behavior

(2) wiolent and destructive behavior
(3) self injured behavior

(4) getting

examinations

less marks in

T 208 OE" 0 EODe s T

(1), ssoia wnil (S0

(2) BESR, Sectio T (B35S
(3) oS Sepee BIDCTHOERS G0

(4) byos® oy s s e DapFoue

Education, social security comes

~ under this category of child rights.

(1) Right to live

(2) Right to develop

(3) Right to freedom

(4) Right to safety

iS5, SRS IS D e iy 06" o
shstess’ soura.

(1) &0 iy,

(2) efipf Dol vy,

(3) Sy sy,

(4) Fiirs Sosy,
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One of the following is not the

guiding prineiple for curriculum

development as proposed by NCF-

2005.

(1) Ensuring that learning shifts
away from rote methods |

(2) Connecting the knowledge to
life outside the school

(3) Making examinations more
flexible and integrating them
with classroom life

(4) Learning centers around the
textbook

edicis gy @erdse Swe-2000 S3to

(1) exgissind® odsth Stor: Dgboise

(2) epepd, oo mdiw, Sieal
esioteroe Dot

(3) a@uwﬂmmmmﬁ‘
g st

(4) eghsho i P m..gmﬂf.n

One of the following iz not the

characteristic of learning.

(1) Learning is universal .

(2) Learning involves cumulative
improvemnent

(3] Likeg'mwt-h, learning also stops
after a developmental stage

(4) Learning depends on physical

growth and mental maturity

W-80/TET-111-EM/TM
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1300 T0E eSS e TR0 e

(1) eipsioe PSRN0

(2) o3 Bold epto Gownel

(3) Sorobe o ey e LY SE oS
eafibgood

(4) egpssy O Dlbuse, Wtk S0ed
B esrpiis Sopsel

Nondirective counseling is also

{1} client centered counsaling

(2) problem centered counseling

{3) counselor centered counseling

(4) eclectic (mixed) counseling

(1) sesbaind Sofs Sosjiesios

(3) Feb lodl Socipriw

(4) Bgureses (Dofo) Sooibestion

One of the following is a teacher
centered method.

(1) Problem solving method

(2) Heuristic method

(3) Lecture-demonstration method
{4) Project method

G (Job o i) adrgroaiy Solie 550,
(1) Sy 50 U 553
(2) eilppm
(B) dismgs Gt SGb
(4) |SeBrg 5D
P.T.0.



97. One of the following is not a principle
of development.

(1) Rate of development is uniform

in all stages
(2) Development iz a continuous |

process |
(3) Development can be predicted
(4) Development is cumulative

ded dE® Dot e TR,

(1) Dovie el Seed” o3 Do dousch
(2) Tmide DUoTC B

(3). Sy wrridstel Sog

(4) D=the Soli Rl

A child is playing, dressing and
talking with the dell, thinking that
it has life. The child is in this stage

Download from JbigDeal
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29. According to Kohlberg, the moral
development in most percentages of
individuals does not develop above
this level.

(1) Pre-conventional level
(2) Pre-moral level

{3) Post-conventional level
{4) Conventional level

§6f; ertie Juyn B0 Sben posor
s ool Jeod DU
(1) s sSopsoedis o
- (2) P PO o
(3) &6 oo Pax
(4) SrosSordind o

of cognitive development. 30. Chomsky proposed a theory for .......
(1): Fre-oparatonal stage {1) moral development
o -
) Se antor etage (2) language development
{3) Formal operational stage 2 -
(4) Concrete operational stage (3) menal illness
(4) social development
el Taky ew Tigi SStaier bed,
AP, & P & eI DT (1) Do% edipd
& ' (2) Pxpd
(1} Y @i & (3) T s
(2) sopcl el &
” (4) Snchod el
(3) etort ool i :
(4) Sy porel S
W-B0LTET-111-EM/TM 18]
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31, ol Moorw Bl - 6 | M. ‘worl S DN O 08
C of e
(1) Boregs 5o (1) ely i
(2) FrscpgEge (2) Dot vissis cto mises
(3) worgs e (3) =%p B 503
(4) SagEoso (4) o uw
32, L0y BIGRIROE ST 35. DU, ety - e Soroiy S0h o
(1) Bz tSo.
(2) beey, (1) St esffstions
(3) Sty (285 fstiotsa
(4) Ry (3) Do coft st
33. Boole’ eth 5003 efo. (4) o Fostets
(1) sxaudmores 36, , S HPEnedy - EhY Delhar.
(2) fomres : (1) ovacomas
(3) Sodsies (2) Porciorrotoes
(4) grototas (3) mm'
(4) orgicres
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37-42 5+ 30D fiomg, WiSSed. 37 Mool 42 S0 N Selh SErones lfoted.
S0 ETm HErEnRs st B35 16 5 jorped’ mietl®d Ty Sektomis. ol
esclissd DS ST sissegite. T e MEPLED rbod esdioh Dyl Siob® e
By TEOOTr WY BoIS TRD0 SOTNS DN00TA. gobir SnEl Dbl Lalal. Wy well
wg@%@m.mﬁ%!ﬂ}mmmmrwﬁ
2508 Berend Ttro et Prlkibe sedvybe, G555, oy, $E'De ofrres REIND
| e’ socles Didotico SEb LB Sl IEMED BEH oro. volid el
SnEionen 5 T ec i e S5 DI, 18 Sk Ml TierD el it
ey 080 360y ok o B0 30 6% i, T s tinge 43, BBKeite Sz, Dge

87. sansbediic! & SRY 40. ool v eones S meo
(1) s (1) ardoie ol o
(@) - @ pags
(3) Nofims (3) factic B0
(4) s - (4) sbzto
38, Sy’ - eeld 41, SESpHe GON Homsiio HabIoctors.
(1) St Huea _ (1) g
(2) S Sodod s (2) smspts
(3) arspe St HGAG D (3) Bty
(4) Sy poscn ey (@) w
39. +m:.ﬂt;j'3-:‘q 42, >rFfopny - et ol Supetilie
(1) ss5ap (1) sSetimpess
(2) ' (2) Sasps
(3) Frompes (3) o
(4) e b (4) 560
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43-48, 308 Soryy, Kol 43 Toed 48 S0 o Bpel Shrgrres rogoucd.

0 Gy Cage
it S st NolE TRt o
e 'y DRI
SR T, SR TS
43, Gastot® D’ - et SoRE oG | 46, sty DT ermDEt el ey
(1) s S0 ArDced
(2) S50 (1) &30
(3) Tpt (2) Hi5pan
@ oo (3) S
44, TS - a0 SR el (4) g
(1) Spob® M 47, 'DEeTEENEeR - s Hootr Blell
(2) 2 Fristiotly .
(3) e (1) S Hociird
4) wme (2) 908 Jgo;
45, wroesEi - e St Sabatm (3) S )
(1) sies®s + cisalito (4) 50D 855
(2) nbes o LE IS 48, e’ - oo SODE Sondh Bie
(3), intes « &5 yE0s (1) Benboton
(4) oSty + cleiin (2) ciiasi
(3) 2&
(4) B
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49, ‘Clem il Stoadts - Bl

al.

(1) s ree &fact
(2) st e & dcl
(3) b o & bl

(4) Byt oo & ol

Trpes st e - eol
(1) FLais erdieso

(2) Jhesd Satnts

(3) Tpen T Fawe

(4) Tpeo Hoeieds
Tl St - e Do e
5% SHaprdp SRR

(2) st
(3) s

(4) Seiow Shrordioes

W-B0LTET-111-EM/TM

[12]

BOOKLET @

52, ‘esgind BOm GR¥ OF Sy - §

ol dob i ol 30

(1) firsoe ool S

N2) roee wiiormsy 2o

(3) @mwlﬁ
(4) 580 grtmre w@:ﬁ:
ey - mmwm@
(1) gpay, 2azs

(2) o, =5

id) s, RS

(4) ety i
o3y w2, B, o - Borp Wit (o0
(1) Rokioe, w200, S0,

(2) B, esDB, Bxjios, S0

(3) w8, Tuxios, B, HE

(4) 5o, W, Beiion, b



Download from

METHODOLOGY

JbigDeal

BOOKLET (@

LT

a7,

W-801/TET-111-EM/TM

BN s SSRePR SNt

(1) Eornes

(2) oM, Dires

(3) Feioen

(4) Hermra

P, T TGy Dy Flrames T Do
2ol - ey ety

(1) DD EDoiiati

(2) % D, el

(3) &, k5. TgrHS

(4) Soioe, mal

Bl trsod’ grome @i e Fost s
Sise

(1) S Se

(2) Sy Bisde

(3) JmtidEo

(4) Eoe sme

[13]

Do eedl SairbE’ Hudt dovs T

S S

(1) egigsic

(2) Dorg Sepos
(3) Saroncinie .
(4) &%

P.T.O.
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61.

62.

W-B80L/TET-111-EM/TM

Identify the second person's

FeSpPONse,

Person 1 : Didn't you go shopping
yesterday?

Person IT :

(1) No, I did.

(2) Yes, I did.

(3) No, I.hnd done.
(4) Yes, I didn't.

Choose the correct pair of words to
fill in the blanks.

reeneissereneens L@ Weather good when
FOU ... ;eesnnees 001 hOlicd ey ™

(1) Was .......ccaWas
(2) Were .............. were
(3) Were............ was
{4) Was ............. were

Identify the correct question to get

the answer given.
Cuestion: ...

Answer : She has been here for
two years.

(1) How long did she live here?

(2) How long she has been here?

{3} How long has she been here?

{4) How long will she be here?

(14]

64. Identify the correct pair of words to

fill in the blanks.
Don't BOY wocicrssnreisinres
R 1), 1: 1 |

rice. Buy

(1) any ......... Bome

{2) any......... any

Jack's mother iz 54. His father is 69.
So we can compare their ages as .....

(1) Jack's father is much older.

{2} Jack's mother is much younger.

(3) dack's,parents are older than
each other.

(4) Jack's mother is much younger
than his father.

Leela to Rita, "Please help me with

my homework”.

If you report the sentence correctly, |

you will get :

(1) Leela told Rita to help with the!
homework.

{2} Leela ordered Rita to help her
with the homework.

(3) Leela requested Rita to help her

“with her homework.

{(4) Leela asked Rita to help her with

homework.
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67. Identify the correct word to fill in the | 70.

blank.

banana every

(1) a
(2) the
(3) any

(4) an .

Identify the correct word to fill in the
blank.

You're wasting a lot of time watching
TV. You ................concentrate on
your studies.

(1) will

(2) may T2
{3) ought

{4) must
'She likes mangoes.'
If you change the sentence, into the

negative correctly, you will get :

(1) She does not like mangoes.
(2) She will not like mangoes.
(3) She don't like mangoes.

(4) She does not likes mangoes.

W-B01/TET-111-EM/TM [15]
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"Ali is taller than Rahim."
If you change the above sentence
into the positive form correctly, you
will get :

(1) Rahim is less tall than Ali.

(2) Rahim can be as tall as Ali.

(3) Rahim is not so tall as Al.

(4) Rahim is as tall as Ali.

Identify the meaning of the phrase
underlined in the sentence.
The teacher gave out the books.

(1) sold

{2) purchased
(3) counted
(4) distributed

Identify the meaning of the phrase
underlined in the sentence.
Mohan takes after his mother.
(1) resembles

(2) likes

(3) admires

(4) dislikes

Identify the correctly-spelt word.
(1) acommodation

{2) accommodation

(3) acomodation

(4) accomodation
P.T.D.
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4. Choose the correct word to fill in | 77. Identify the passive form of the
the blank. srreaioc
. Somebody has stolen my purse.
John is afraid ................ dogs. o :
(1) My purse is stolen by somebody. |
(1) of (2) My purse has been stolen by
{3) My purse had been stolen.
(5) to i4) My purse have been stolen.
(4), towards 78 Identify the word(s) to fill in the
75. Choose the correct form of the verb . .
$icd I'm very tired. I .................. e down
to fill in the blank. for an hour.
Small boys ...............ice cream. (1) am going to
(1) will liked (2) need
: (3) am willing to
" (8) are liking 79. Choose the correct word to fill in the
(4) like biapk.
XYZisn't an old town. ................ any
76. Choose the correct form of the verb old buildings.
to fill in the blank. (1) 'I.'her& is no
A " bicvel (2) There isn't
arah goes everywhere by bicycle. ) s
She.......oooveeere... 2t BCOOLET. {4) Are there
{1) has no 80. What prefix should yvou use to make
'its ite?
(2) haven't got gkt o
(1} Un-
{3) hasn't got (2) Dis-
{4) is not having (3} Anti-
(4) Non-

W-80L/TET-111-EM/TM (18]



Download from JbigDeal

Hﬂﬂﬂ.ﬂ'l‘@

&1 to 84 : Read the following passage carefully and answer the questions

given below it.
Long ago, a king named Manunidhi Cholan had a bell installed outside his

81.

W-BOUTET-111-EM/TM

palace gates, to dispense justice.

Haogv astonished he was, when one day, a cow pulled the cord of the bell | He
learnt the truth through the ﬂyﬂnritnéa.ﬂm His son rode a chariot over herr,allf '
killing it instantly. Manunidhi did not bat an eyelid.

The king ordeped the chariot to be driven over his son !

As the entire kingdom bore witnes to the sight of the young prince, who was
about to be crushed by the chariot, the gods thempsalves descended to earth,
stopped Manunidhi and saved his son. The king was happy, but he was
di.al:rauglht at the cow's logs. Legend goes that the cow, moved h].r. the king's
righteousness, licked her dead calf back to life.

Choose the most appropriate title for
this passage. :

(1) The Kind King

{2) Manunidhi Cholan the Great.
(3) A Cow seeks Revenge

(4) The Rightegus King

What did the king do to dispense

justice?

(1) He started courts of law.

{2) He installed a bell at his palace
gates. | |

{3) He saw that his subjects did not
have any disputes. -

{4) He was a very just king.

[17]

88. Whowasthe culprit in this passage?

{1y onwof the courtiers
(Z) !ha cow 8§ master

(3) the king's son
{4) one of tha soldiers

How did the king knew about the
crime? :

{1) Through the secret service staff
(2) Through the people who saw the

criminal act

" (8) Through his ministers

(4) Through the cow

P.T.0.
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85. An appmn.c-'h Bl A RS,

(1) a method behind it
(2) learning principle behind it

(3] some language patterns

behind it

(4) a technique behind it

86. How many syllables are there in the

word, 'examination?

(1) Three

(2) Four B9,

(8) Six
(4) Five

87.. One of the problems of teaching-

learning English is ......cccocneeee .

(1) the supplementary reader
prescribed

{2) the English reader prescribed

(3) the lack of a conscious effort on
the part of the learner |

{4) the workbook prescribed

W-80LUTET-111-EM/TM 118]
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What kind of situation can you use

to teach sentences in the present

continuous tense?

(1) Situations describing events at
home .

(2) Classroom situations

(3) Situations covering events in
the village / town.

{(4) Situations covering events in

the society

We teach English a8 .........ccoooseeee
(1) a skill subject,

(2) &@n information subject

(3) a bilingual subject

{4) a knowledge subject

A radio lesson helps pupils to lear)
(1) an audio aid

(2) a video aid

{3) a multimedia aid

{4)" an audio-video aid
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PART-IV
MATHEMATICS PR @
91. Qut of 500 pages of a book, 1™ is e, 80 By w8 B B 0 e 8 S0t
read. The number of pages still to SE T, o i 1, 2012 % el
bﬂrﬂﬂdlﬁ ............... EE‘FE..---..-“-“
500 spoes Nie e¥.pieed® § Seb | (1) wwo 2, 2013
BNl ocath ol SERNetl e (2) Abeests 31, 2012
= S
3) =550 2, 2011
(1) 400 (2) 300 = ’
(3) 200 (4) 100 () Ghonto8l, 2011
82, The angle formed between the hands 94. A bar graph is drawn to the scale
of a clock, when it shows the time 1 cm = 10 units. The length of the
d4o'cleckisafan .............. . k:
: bar representing a quantity of 52
(1) reflex angle ;
(2) acute angle units (in ems} 18 ....oooocvees
{3) obtuse angle capaoder s 1ot - 10 Ghre s
(4) right angle i y
A pecieh Maidha. Ly 2 52 aurday
w8 AScirites ©F Bledibia 4 Roban
55 : : orad AP DetaTiy, o 5o Aatleld
iy, crOE% Slese Sofh Dt
B e MM
(1) Somss S (1) 10.4 (2) 3.2
@) ooy e - (3) 6.2 (4) 5.2
(3) ety Frina .
(4) cow e 895. Of the following numbers, the
93. Raju is older than Ravl by one year number Mntaining‘ factors only 1,
manus one day, [f Raju was born on and itselfis ...
1% January, 2012, then the date of
birth of Raviis....... Sia JOB Eo ek, T 2ot Wil oy
(1) 204 January, 2013 m%mﬁ
{(2) 31" December, 2012 (1) 59 (2) 69
(3) 2* January, 2011 3) 39 (4) 49
(4) 31* December, 2011

W-801/TET-111-EM/TM 119 P.T.O.
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96.

W-80U/TET-111-EM/TM

If Raheem purchased 5 kg 250 g of
potatoes, 2 kg 500 g of brinjal and
250 g of chillis, then the total weight
of all the vegetables in kgis ._.........

tina 5 e, 250 1. somessciies,
2 L. 500 ge. Sezvbons Sabae 250
Mioce Jolye B0 wiie By oot

(T (2) B
(3) 6 49

If & rectangular shaped cardboard
is rotated along its length as an axis,

then the shape formedisa........
(1L cone (2) circle
(3) sphere (4) cylinder

L BT ettt 0 DS

(1) ety (2) s
(3) Rvsas (4) s

If 50% of 50% of & number 15 50,
then the numberis ..........

e Bopls H0% cdoofy, H0% el 50

mﬁ-u:&aﬁ
(1) 200 (2) 100
i3) 400 (4) 300

The length of a rope is 8 E- m. Ifit is

cut into 7 equal parts, then the
length of each piece of the rope in
metersis .........

L3 oo o 85 Do, 0D T SETR

EPTETT DRSiS, DS (4 joeess oo,
i R
(1) 3 (2) i
5 7
(3) 4 (4) 1

1040,

101.

BOOKLET @

The Hindu-Arabic numhber
equivalent to the Roman numeral

LXXIX e £%505 Sogyts $50m3 Dasd o
(1) 69 (2) 81
(3) 61 (4) 79

The number of students in a school
iz 425. On a specific day, if the ratio
of students present in the school to
the students absent in the school is
15 : 2, then the number of students
present on that dayis......

w5 e 60 Dongloe oy 425, Sdgiem
e G, Domets Flebons Helin
st T PO Tiyl 16 - 2, woosdes Bl

102,

[20]

(1) 385 (2) 50
(3) 375 (4) 395
Of the following fractions, the

fraction less than % and greater
than § i8 ...

G 200 Db’ o Dig e, § 5y

(1) = (2) =t
12 24
23 1
(3) 24 (4) 1



103. If all factors (divisorz) of 128 are

104.

105,

arranged in the ascending order,
then the sixth divisor is
128 G, Wy 3 201
(wesmes:) 53R Pd2 ubirn
Eo0cd' elolyr, u (Soof el
(1) 32

i3) 128

(2) 16

(4) 64

The maximum number of points of
intersection of a circle and a triangle
is 'm' and the maximum number of
points of intersection of two
triangles is 'n'. Then the value of
MENIS.....cone

ol Spiics, Getues polovelEm
Dinds poc Deliage 1o Sedy m!

oot Dol [Bieliaee poedotoitum

nitnds pots Delisge o e, 'n' eoid
R -~ .

(1) B (Z) &6

(3) 12 (4) 10

If the average of four numbers is 16
and the average of five other
numbers is 25, then the average of
all numbers together is
4 Some 300 16 Sobdin 5 30 sope
R0 25 eaot o ool oy SN0

()

(1) 20.5 (2) 9

(3) 41 (4) 21
W.B0LTET-111-EM/TM

106.

107.

[21]

Download from JbigDeal

BOOKLET @

John wants to exchange his
rectangular plot for a square plot
of the same area. If the dimensions
of the rectangular plot are
B0 m x 20 m, then the side of the
square plot he receives (inm)is .......
5 o1 BgnosiST god Jeteio
wd g Tie DEOTUgE el
Leobinbomi, e E-g:&ﬁ:ﬁ@'!'ﬁ ot
Setieo B0 o x 20 bo. e et el

(1) 20 (2) 40
(3) 50 (4 a0

If the fractions §, 3,8, § are

arranged in ascending order, then

their order will be .............

1,4, 8, § o imein ethne gl

P.T.O..
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108. The difference between the place | 111. The number of lines of symmetry

values of digit '2' in the number for a sqUArE IS ..ceeeeeene,
B201218 ...oicnnnin L ol :E&ﬂ:kjﬁﬁ#ﬂmé
32512 g% w2 '2' Qo % Deste (1) 2 (2 1
B (3) 4 (4) 3
(1) 1988 (2) 1989 112. The number of trees that can be
_'[H] 1899 (4) 1998 planted along a road of length
108. The weight of two boxes together is 10 km, when the distance between
53 kg. If one box weighs 2§ kg,|- two trees is to be 200 m is ...........
then the weight of the other box Toth ey ok Srtkas 200 b, spotiio
(inkg)is ....coooenee - 10 8.2, iz fio Bt Dewd Truaio De'
Padt b@ﬂ_"'g b EE E.F.m'ﬁ‘ 5@5 .............
(1) 50
&8 B ety 27 Age. ecass Bedss 30 w 51
o () (3 20
35 103 3 (4) 500
() 55 D o |
113. If 999999 is divided by 99, then the
() 291 quotientis.............
(3) 34 (4} 24
999999 &3 Soppic 99 3 oS Shy
110. If Rajani bought a radio for Rs. 500 SIS s
and sold it for Rs. 450, then the loss (1) 111 (2) 10101
obtained by her in percentage (3) 11011 (4) 10110
W o 114. If 11 books cost Rs, 121.55, then the
ven ¥ B we. 500 e B9, price of each book in Rs_is...........
ﬁ?+4ﬁﬂumuf.‘:¥$ﬁmm:ijﬁ 11 g 30 &, 121.56 o b
i Wi 20 (1) 125 (2) 115
() 20 : -5 (3) 11.05 (4) 10.05

W-S80L/TET-111-EM/TM [22]
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METHODOLOGY
115. The purpose of cunduttfng a ‘ﬁhﬁmmﬁ@ww
di tic test on a pupilis............ .
i e ey P S 30 e
(1) to know the behavioral changes
of the pupil (1) Sgraotizse
[2} to know the -B.Ehi.ﬂ'k'ﬂl'ﬂ.ﬂ:ﬂt ]E“I-"E'] (2) m
of the pupil
3 o (3) e
{3) to know the innate abilities of :
the pupil : (4). gono
{4) to know the strengths and '
” g 117. If the pupil makes mathematical
weaknesses of the pupil in the
content models, diagrams and charts, then
&% Jopbien DS Starostel’ Swgy this specification comes under the
é § oectiveof ............. :
1) Doyl Glol, ERGE SPnoi 0ed
dosuTamnd (1) interest
(2) Dorpl GlaoZ), SMGRP roaod Mool (2) skill
Desisiont .
(3) application
(3) Jomd o), webbD Wi fled
DeriaSharand (4) appreciation
(4) Derd Sy, wes, essbrer 100D :
; _ - _:-cs-ag fieSi SomelRt SorTras, Wgrm
SoBctia Trtes Taon Holits DD - e
116. The closed figure of the highest area =
among the following figures of the Srmites S oD Doliotiond .
game perimeteris a ....... (1) wisd
(1) rectangle
2) Wprao
(2) square 2
(3) circle (3) edmcie
(4) triangle (@
W-801/TET-111-EM/TM 23] P.T.O.
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118. The formula for finding the area of
a triang;le using the side
measurements was given by ..........
(1) René Descartes
(2) Euclid
(3) Heron
{:}Gmrge Cantor
o Gge Pyl o0 g oS
SR BPEh S TR e
(1) o=t
(2) gl
(3) el
(4) =@mal

119. 'T'wo similar segments of a circle are
in the ratio of squares of their
chords'. This was proposed by the
following school.

(1) Pythagorean school
{2) Ayonic school
~ {3) Plato school '

(4) Sophist school

. BOOKLET @

ol Svio G SEPS i pecres T
©H0re Uip0E doironst - el PO
(1) perroctd Stre

(2) edrnk o

(3) &5° Invare

(4) 0 e

120. The book, 'Spirit of Geometry' was
written by the Mathematician, ........
(1) Renéiescartes
(2) Euclid

(3) George Cantor

(4) Blaise Pascal

W-80U/TET-111-EM/TM [24]
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ENVIRONMENTAL STUDIES

J—

121. When we observe the parts of a | 123. The suspended particulate matter
Datura flower, the swollen part over (SPM) in the air due to pollution

the pedicel 18 ... BB tseimeninii
(1) nitric oxide
(2) sulphur dioxide

(1) Thalamus

(2) Gynaeceum
(3) lead and soot
* {3) Placenta
; (4) water vapour
(4) Androecium i
Treuie Se D5 50 Tew tirstahpra:
e Aok gy grTreiy S05DedE oL, o .
RpEHOto Dok Gl G0% EMS ..veuies (2) Pebped
(1) S0 | @ sseu
@) waS'e - . (4) DdeDd
Ve e 124, ﬁ;parann is wanting to measure the
(4) T30 a.'i'r-prnmﬁuru- in the tyres of his
122. The bud, located at the tip of the vehicle. The instrument useful for
stemnis called ...nvnnc itis the ... :
(1) leaf bud (1} Sphygmomanometer
(2) axillary bud (2) Cistern barometer

(3) Aneroid barometad

(3) lateral bud -
3 (4) Deflection magnetometer

(4) apical bud -
Bl 58, el Time Ao, Sus MO
(1) sgstee ' RSSO '
(2) (fissfomes (1) 2pitrefhoist
(3) gefimmsoo (2) 1555 pretb
(4) et (3) eoonk s

(4) ealifiors esclionk, o SmESo

W-B0U/TET-111-EM/TM [25] P.T.0.
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125. In a fire accident, the entire skin
and muscles of a person are
damaged, The burns are called .......
(1) second degree burns
(2) third degree burns
(3} ordinary burns
(4) first degree burns

iy Erted® o Sl Boogo Sie, oliore:
= oy VLT L LT —
(1) Bl &% Sonos

(2) dndiic o6 a0

(3) rqrbics oo

(4) T S Tanmo

126. The chemical equation relating to

the Clark's method for romoval of |

(1) Ca(HCO,), —2CaC0, +
2H,0

(2) Ca(HCO,),——CaCO,+
H0+CO, T

(3) Ca(HCO,), + Na,CO,——
CaCO, +2Na HCO,

(4) Ca(HCO,), + Ca(OH),—
2CaCO, +2H,0 -

' BOOKLET @

127. This is a submerged aquatic plant.
(1) Vallisneria
{2) Lotus
(3) Pistia

(4) Water Lily

20 DS aanhh dcl o T Do,
(1) SE5A0cr

(2) ool

(3) Lhotir

() Seudh

128. Vital functions of eur body such as
haartbeat, respiration etc. are
under the control of the ........

(1) cerebellum

(2) cerebrum

(3) medulla oblongata
{4) spinal cord

s whitiod® il Smiiiitivotsy, Tgiidah
Sedd s goed B3 esfiood® souran.
(1) essctyho

(2) solyon

(3) sepiongs

(4) ‘-‘h:q_-,-“:"ﬁn
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129, This country is called 'Land of
Rising Sun'.

(1) France

{2) China

(3} Japan

(4) England

B DO “dScaoel BT P ™
e,

(1) @

(2) o

(3) edo

(4) gebicl

The height of Mount Everestis ......,
(1) 4,588 meters

(2) 8,848 meters

(3) 8,884 meters

(4) 8,888 moters

ST Beplios B oo ssdanes 4
(1) 4,888 Sowstic
(2) 8,848 lueslis
(3) 8,884 Jueti
(4) 8,888 Boesty

The title of Rajendra Chola was ......
(1} Maligai Konda

(2) Purai Konda

() Nagari Konda

(4) Gangai Konda

130,

131.

(1) S Bel
(2) 3R Fois
(3) 5ndSeu
(4) nep Sots

Pnﬂulrrm'. 111-EM/TM
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132. The emperor Akbar divided his
kingdom into .............
(1) Suba
(2) Mukti
(3} Ikta
(4) Mandal -
et IS G5 IvEremyT 5ee Do T
(1) iSour
(2) Haod
(3) g
(4) Soalibo
133. The imaginary lines which 'connect
the north and the south pole is
(1} longitudes
(2) latitudes
(3) equator
(4) orbit
B0 irs e Seopor fdbods
(1) Tgrotres
(2) egotra:
(3) gortelle
) =,
134. The 'Grand Old Man of India’
VS | Y -
(1) Dadabhai Naoraji
{2) C.R.Das
(3) Gandhiji
(4) B. G. Tilak
'8 grol LEurS ef golair m STaua.
(1) cropgpass FE'S
(2) % wb. ol

(3) meds
{4) &. 2. &k

P.T.O.
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135. The literacy rate of Andhra Pradesh

as per 2001 census was ............. .

&is 2001 eorie T BT WO BoN

(1) 74.72
(2) 68.22
(3) 61.11
(4) 89.00

136. The person who fought against the
social evil, 'Sati' was ....ccceeie g
(1) Raja Rammohan Roy
(2) Jagadish Chandra Bose
(3} Gopal Krishna Gokhale
* {4) Subhash Chandra Bose

L ey ol ool IR |

Hordvad :
(1) e cimpis onchs
(2) mnbs Sogi
(3) Feo M Rpd
(4) ol o 65
137. The way of life that gives
importance to traditions i .......oee
(1} culture
(2} hiterature
(3) sculpture
(4) arts

JbigDeal
BOOKLET ({({§

138. The early man first used this as
weapon to hunt animals.
{1} gun
(2) stone
(3) arrow
{4) sword
050 SIS BoBiHUe TG e
Thtses A0 dBGMReTM.
(1) doded
(2) ooz
i3} oo
(4) 55
138, The meetings of the Rajya Sabha
are presided over by the ..............
(1) Viea President
(2) Prime Minister
(3) Speaker
i4) Prasi.dnut;
(1) ssoEsd
{2} poera ool
(3) hpnb
4) oo
140. The first novelist in Kannada
{1} Prem Chandra
{2} Jaya Chandra
{3) Nemi Chandra
(4) Hema Chandra

M e sl SRS crrvree
(1) DS o

(2) eaciin oS

(3) S el

(4) Eree e
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141. According to movement, the joint | 143. These nutrients are mainly useful

present in our Knee is ........... to us for health and proper

(1) aliding jaint functioning of our body and also

: i protect us from diseases.
(2) immovable joint

(1) Proteins
%), Mg jotn: (2) Carbohydrates
(4) pivot joint (3) Fats
ssbEs e drresd' sl fes ... (4} Vitamins
(1) mrod des 30 W oRl ebfmend, st
(3) Sotiteotio fe =
L) EretEion:
® e (2) bedsorgren
142, When a boy is playing cricket with A3) oy
his friends, his respiration rate per | (4 Qe
IIANAIES £5 .. iererses | 144. When a person opens the electric

circuit, the current flow will ...

(1) more than 18 time=s

(2) less than 18 times $)-Inarenns
(2) stop
(3) varies from 8 to 18 times
. (3) vary
(4) cnuut?ntl}r 18 times (A i

¥ gpenths pimioed (188 ettt £ 53 Dol Sediso @l gt

ey TySiBair Tew D000 ... B e (D00 ) Sows
(1) 18 s o o = —
{2} whSSgool
(3) Bioad 18 b antoto
T (3) srtotoed
Ll (4) Bitood
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145. The learning experience at the
bottom of the Edgar Dale cone of
EXPETIENCE AT ...oovrraren

(1} exhibits

(2) verbal symbaols

(3) direct purposeful experiences

(4) field trips :

b &5 cisogis omsipl stk griot®

(1) @E0H W

(2) o Sclores

(3) (s (- AErES elogimes

(4) Ro st
146. The main purpose of
'‘Recaptitulation' during the

teaching—learning process is ..........

(1) to categorize weak and strong
students in a subject

(2) to know the achievement of
teaching ohjectives

(3) to report to the headmaster
about the standards of students

{4) tostart remedial classes

W-80UTET-111-EM/TM

(1) Dorgives Joph S0om wedoboos
Sl pelmissam sEsboiis S5e

(2) S oo e Holed BestisEinis

E&rﬁfﬂ?aﬁmﬁé_ﬂdﬁ:ﬂﬂn%
(4) 6% ot BtRE et Bygto

B0

147 The sélection of a method of
teaching depends on the ..............
(1) medium of instruction
(2) topic
{3) teacher
(4) timings of the period of teaching
S S50 G, 2E A0 el
(1) S amgsioo
(2) oo
(3) Emrgrciionts
(4) LagnEe® a%es waf oo

(30]
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148.

A book on 'The Story of Earth'

belongs to the following category of

books in a school library.

BOOKLET @

G BURGTOE" o gy priel
arnies el 1 oge ol eyt
Tetotioal,

(1) Sty
k.E ¥
(1) background boo (@) o
(2) prescribed textbooks (3) Seprae
{3) reference books (4) oo
(4) supplementary books 150. 'The knowledge of temperature,
Gy Aath, X S Yo Swwo pressure and _h.um.ii:lit].r'.l':.elps_ in
¥ % - understanding the climate _ﬂfl a
region.” This statement refers to
TRmreth Delibhood. ;
_ correlation between the subjects, ...
W . q:-_., 3 (1) Science and Geography
(2) R0 S (2) Beience amd History
(3) mm{ﬁﬁ%-@w} (3) Science and Fine arts
(4) esioeseds Jpiimen (4) Science and Crafts
149, 'A student is able to give examples | ‘SHI%, Sk SOdn e ob
for the concepis learnt in the : R0 &8¢ o
SERED eomrh SERo0E Saao
classroom.’' This statement refers to .
. el H—I?ﬁ;ﬁ-ﬁ-ﬂﬂﬁimﬁﬁﬂ:ﬁ
the following objective. . )
S SOLCEP B .o ,
(2) Knowledge (2) Do - OB
(3) Skill (3) Degearo - Boe
(4) Application (4) Degonge - R
W-B801L/TET-111-EM/TM [31]



